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Accelerated Chemistry Chapter 10 Exam

all computations.
Answer questions in complete sentences using correct spelling and grammar. Show your :::;fh:;]es p
@ State all?esults with the correct number of significant digits. Point values are shown in p
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2. For the following processes, state whether AS is positive or negative Qd explan(@w you know:

a. H20(1) - HCO(g)

A5>0

b. 2N0(g) 0x(g) — 2NOy(g)

3 moles = 2 ples

b 2540

3. Consider the following reaction:

Hy(g) + Bry(g) = 2HBr(g)
a. Ifthis reaction occurs in a single step, predict the rate law.

J : R=K{it] B@:-l

- Assume now that experiments show that the rate law is R = k[H,][Br,]"2. What does this rate law tell
you about the reaction mechanism?

1 © miaep

¢. From the experimentally determined rate law in part (b), determine wh
will be if the bromine gas concentration is increased by a factor of 4.

WP

4. Determine AS° for the following reaction:

at the effect on the reaction rate

j 2CH (g) + 702(g) = 4C0y(g) + 6H,0(g)

A5= %

4= q@n@mg%@): 1968
5‘4 = 2(202)+ 7665D= (9444
po=MEE—10%8
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5. Using tables of thermochemical data, determine the enthalpy of reaction for the following reaction:

Mg(OH)y(s) — MgO(s) + H:0() S5
1)+t Mt
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6. Using tables of thermochemical data, determine the change in the Gibbs free energy for the following reaction:

\/’ CHi(g) + Hig) — CiHe(g)

A6 =Gp~(T

Gr= 08Y4
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7. h ncept of the r nergy pathway to describe, g lhw tlyt able to pdt
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8. Briefly describe the factors that influe collision theo
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9. The pH of a-certain-solution is 12.1. Determine pOH, [H;0°], and [OH].




